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2Cu* (aq) + Zn (s) — 2Cu(s) + Zn2* (aq)

E3q = 128V
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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 33 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iit) Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

(iv) Section B — questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

(v)  Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

(vi) Section D — questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

(vit) Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5§ marks.

(viii) There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

(ix) Kindly note that there is a separate question paper for Visually Impaired
candidates.

(x) Use of calculator is not allowed.

SECTION A
Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark
each. 16x1=16
1. In an electrochemical cell, the following reaction takes place :
2Cu™ (aq) + Zn (s) - 2Cu (s) + Zn>* (aq)

ES =128V

cel

As the reaction progresses, what will happen to the overall voltage of the
cell ?

(A)  Voltage will remain constant.
(B) It will decrease as [Zn2+] increases.
(C) It will increase as [Cu™] increases.

(D) It will increase as [Zn2+] increases.

2. Out of Ti%*, Cr®*, Fe?* and Ni?* ions, the one which is the most stable
ion in aqueous solution is :

(A Tt (B) Crd*

(C) Fet (D) Ni%*
[Atomic number : Ti = 22, Cr =24, Fe =26, Ni = 28]

—_— NN\ N NN

56/4/3 #3# P.T.O.
—f



El.g,. %ﬁé
&

56/4/3
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(A) R-NO,

(B) R-NH,

(C) R-CH,-NH,

(D) R-CO-NH,

(A)  Ioaa forcraar arett Ei o T Faw
(B)  fAwTar forcrerar ameft i & fofw sew
(C) &t i o foru feer

(D) Tt st fereterar & deifera 7 @

ffcTRad wreiiersge st giael ST H fofs e e[t shi deiferd o
2| UL Shre ol fore deam § Hegifohd foram a2 2
CH,0H

A 1

B) 2

) 3

(D) 5

frfaiaa rai o @ gt o 2

(A)  La 9%dd § GshHUT Ut kT I 1 2 |

(B)  Zr 3 Hf sl weoiferes Heamd dms g0 gidt € |
(C) oiHTTe feaafsragid g |

(D) La%* 4 Lu’* & smafies Bearsedi 2|
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Hoffmann Bromamide degradation reaction is given by :

(A)
(B)
©
(D)

R - NO,
R - NH,
R - CH, - NH,
R - CO - NH,

The value of Henry’s constant Ky is :

(A)
(B)
©)
(D)

greater for gases with higher solubility
greater for gases with lower solubility
constant for all gases

not related to the solubility of gases

In the Haworth structure of the following carbohydrate, various carbon

atoms have been numbered. The anomeric carbon is numbered as :

(A)
(B)
()
(D)

Out of the following statements, the correct statement is :

(A)
(B)
()
(D)

CH,0H

ot W N =

La is actually not an element of transition series.
Zr and Hf have almost identical atomic radii.
Lanthanoids are radioactive.

Ionic radius increases from La3* to Lu®*.

#5#
I

P.T.O.



B
&

10.

56/4/3

e &t i sfuforen srgeem H, Y o wee Bt

NH,
NaN02 > X CszoH\ v
HCl ~ i’

et 0-5°C

OH
w O » O
NO, NoCl-

2SI, 1-5THISHS, 2-STHISA ST 1-STHIS 7 & hi-|1 707 foheet wahfer o1
27

(A 2-FHISA
(B)  1-SMHI=gA
(C)  2-5MHISuT
(D) 1-SHESNT

HoRAOT GTqet o frefafad oredt § & A1 3% IR I Wifd FeEr FA A
TAATE 2

(A) I TIAHIR

(B) =9 AR TS

(C)  Torerg fmior

(D) YN TR TehToT STTEATE

FeO % 1 WA I FeyO4 H STalishd i o feTq forc fora atrert ol strarwarean

BT R ?

(A) 1F
(B) 2F
(C) 3F
(D) 4F
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7. In the given reaction sequence, the structure of Y would be :

NH,
NaN02 . X CQH5OH\ Y
HCl ~ -

(Aniline) 0-5°C

() (D)

OH
w O » )
©/NO2 ©/N;cf

8. Out of 2-Bromobutane, 1-Bromobutane, 2-Bromopropane and
1-Bromopropane, the molecule which is chiral in nature is :

(A)  2-Bromobutane
(B)  1-Bromobutane
(C)  2-Bromopropane
(D)  1-Bromopropane

9. Which of the following properties of transition metals enables them to
behave as catalysts ?

(A)  High melting point
(B)  High ionisation enthalpy
(C)  Alloy formation

(D) Variable oxidation states

10. What amount of electric charge is required for the oxidation of 1 mole of
FeO to Fe,05?

(A) 1F
(B) 2F
(C) 3F
(D) 4F
—_ VNN INNAANNNANANANAN
56/4/3 #T7# P.T.O.
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(A) NI (A) 3R FRO (R) 3T T & A R (R), INIHAT (A) HT G2
ST HLAT R |
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(D) AR (A) TIeTd B, T T (R) H&T 2 |

13. 3R (A) :

SR (R) :

14. 39T (A) :

SR (R) :

15. 39T (A) :

PR (R) :

16. 39T (A) :

SR (R) :
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11. Alkenes are formed by heating alcohols with conc. HySO,. The first step
in the reaction is :

(A) formation of carbocation

(B) formation of ester

(C)  protonation of alcohol molecule
(D) elimination of water

12. Polyhalogen compounds have wide application in industries and
agriculture. DDT is also a very important polyhalogen compound. It is a :

(A) greenhouse gas

(B) fertilizer

(C)  biodegradable insecticide

(D) non-biodegradable insecticide

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given
below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

13. Assertion (A) : Acetanilide is less basic than aniline.

Reason (R):  Acetylation of aniline results in decrease of electron
density on nitrogen.

14. Assertion (A) : Cuprous salts are diamagnetic.

Reason (R):  Cuprous ion has completely filled 3d-orbitals.

15. Assertion (A) : n-Butyl chloride has higher boiling point than
n-Butyl bromide.

Reason (R): C - Cl bond is more polar than C — Br bond.

16.  Assertion (A) : Electrolysis of aqueous NaCl gives H, at cathode and Cl,
at anode.
Reason (R):  Chlorine has higher oxidation potential than H,O.

NN\ N NN

56/4/3 #9# P.T.O.
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17.

18.

19.

20.

21.
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LCLERC)
STk VAT STraAt | R STRTITRT 8 9 Wi 31eet Svrrerf ehfer o i 81 & 2

frrferfaa stiwfsramsti & g Scamet sht wemTd fafla ;
O NaBH,

CHyCH, - C -0 - CHy ———»
(%) IA

CH,

|
(@) 6CHg—C—OH +2Al — >

|
CH,

3 YA T A S AT fARag ot sttt siafier srisen # fora il Je i &
AT ST T AT T AT | 6eRT U o ot fafaw |

PACl, . 2KCl, AgNO, T & @rar AgCl %1 31@&™ T o & | @5 &
HaATeHe g 3R ITUPAC 7™ fafaw |

@F) A,y (g) IR B, (g) & st=r MIfRAT T a1va THATHT I # Y T3 | SAMIRAT o6

ISICHRERERT IDIRIDIE
T = k[Ag] [By]
a1 feer ad gu Afe stfufrar s § 1 9 A, () forers s, a stfufsean
ST QT T TEerieh H dftard sht ITfh ShifSTg |
STt
@)  Toreft TR ‘A’ T ITIEICH BIAT © | ‘A’ 3hT |igar il 119 Hivea sfata ™
st g o i & T |t 7 Siferd forar
qaI/He [Al/M
0 0-88
1 0-44
2 0-22
3 0-11

S faq TG SAferst o AR W, FAffrAT i Fife i anife AT R 36
o7 form ot =isten fofian |
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SECTION B
17. What is meant by essential amino acids ? Why are amino acids
amphoteric in nature ? 2
18.  Write the structures of the main products of the following reactions : 2
O NaBH,
CH,CHy -C-0-CHg ———>
(a) |
O
CH,

|
(b) 6CH;—C—OH +2Al — >

|
CH,

19. Name and define the cell which was used for providing electric power in
the Apollo space programme. Also write its one advantage. 2

20. PdCl,.2KCl does not give precipitate of AgCl with AgNOj; solution.
Write the structural formula and ITUPAC name of the complex. 2

21. (a) The reaction between A, (g) and B, (g) was carried out in a sealed

isothermal container. The rate law for the reaction was found to
be :

Rate = k[A,] [By]

If 1 mole of Ay (g) was added to the reaction chamber and the
temperature was kept constant, then predict the change in rate of
the reaction and the rate constant. 2

OR

(b) Reactant ‘A’ wunderwent a decomposition reaction. The
concentration of ‘A’ was measured periodically and recorded in the
table given below :

Time/Hours [A]/M
0 0-88
1 0-44
2 0-22
3 0-11
Based on the above data, predict the order of the reaction and write
the expression for the rate law. 2
[ AN\ NNV NN
56/4/3 #11# P.T.O.
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Mn3+ T TR & Saish Cre* A I © T g1 o1 d-FHeTeh
formme (d%) T e B |

AT FATEHE hl T ﬁ@aﬁﬁaﬁaﬁ%aﬁamw@?m
g |

H, B, C 3T N = |1 HshAUT U1q¢ g 31fersh A1 H el Afreh s
g

23.  CgHgO 3T T AT Hig WA AR ‘A’ gTeish 2,4-DNP Tiefor 31 2 | I8
Aifeam grEaierEEe & qry rfufsmRa iy s 9w Rt B’ w1 diem saag a1 g |
e ‘A’ e SreraT il stfiremisr o wryr stfifsram T AT 8; KMnO, o &
oI ST R0T T IE el eToh 377 ‘C7 ST R | “‘A”, B’ 31T “C’ shl Gi=ATE W%
FIfSTT | 37 TUPAC 7 off ST |

24, MY SER FAfATad A i e iR

(%)

)

M

25. (%)

56/4/3

CoHsNH,, (CoHy),NH, CgH,NHCH,, C4H-NH,
pKy, AT 3 =ed gT A

C,H;OH, C,H-NH,, (CH),NH
T o TGd gY A

CgHsNH,, (CoHs),NH, C,H-NH,
ST H foretardt & sed gUFA |

frfafaa & forg sror s

(i) - FTARES HT T H Ut FARTEE ST sl & Siet-3Taeied
FATE |

(i)  Ufcohd ATES] ol SIo fHoat TTIATES o 9Tl 31T Tehira foram StTaT & o«

HATEHERIATES o9 ¢ |
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SECTION C

22. Give explanation for each of the following observations : 3

(a)  With the same d-orbital configuration (d4), Mn3* jon is an oxidising
agent whereas Cr2* ion is a reducing agent.

(b)  Actinoid contraction is greater from element to element than that
among lanthanoids.

(c)  Transition metals form large number of interstitial compounds
with H, B, C and N.

23. An aromatic compound ‘A’ with molecular formula CgHgO gives positive
2,4-DNP test. It gives yellow precipitate. of compound ‘B’ on treatment
with sodium hypoiodite. Compound ‘A’ does not react with Tollen’s or
Fehling’s reagent; on drastic oxidation with KMnO, it forms a carboxylic
acid ‘C’. Elucidate the structures of A, B and C. Also give their IUPAC

names. 3

24. Arrange the following compounds as asked : 3

(a) in decreasing order of pKj, values

CoHsNH,, (CoHy),NH, CgH,NHCH;, C4H-NH,

(b)  increasing order of boiling point

C,H;OH, C,H,NH,, (CH,),NH

(c)  increasing order of solubility in water

CeH5NH,, (C,Hy),NH, C,H,NH,

25. (a) Account for the following : 3

1) Allyl chloride is hydrolysed more readily than
n-propyl chloride.

(ii)  Isocyanides are formed when alkyl halides are treated with

silver cyanide.

56/4/3 #13 # P.T.O.
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(%h)

)

(iii)  Sn2 AR H t-YfIeA FANES sht JetT H WA FARTES OH 3=

o Trer TR witerar & safufsra T |
3T
‘A’ FR B’ % GCeTere g forga ffariaa stffsrmat st qof hifsm
() CH,CH=CH, qug%g , T KOH |

(i) CHZCH,CHCH, Q“'i'g”i'a“ KOH , o HBr g

Cl

Mg Hzo

CHZCH,MgCl —2-— ‘B’

(i) A
H+
(HEF 3c13)

M AE A NUAR 3 & g difean WdfEs 3R
o 1ash-sfe FANZS T YA o ST wehar & 2 3fad = i |
qeltrsh-sgfeet Tiftet $oR S o fAY ATewaeh SUgh TRfFeh vardl 1 gere
T T A I 1 e A |

I IfeARgd e 1 TUPAC A difsru |

NaOH T Ueh ST foreiae s/ - 3% 9T a1 shl 719 8 25°C T 36T el
A 28 g mol™! 9T T | 3@ faeEa § NaOH &1 ufawrd foiiee dfterfora
hifeTg |

[AAT] SoqA T : Na = 23:0u, O =16-0u, H=1-0u]

25°C R Ffriad 149 ol Siigst 514 Aicd i 9t ol O favd aftshferd hifeig
Al/AI%* (0-002 M) 3R Ni/NiZ* (0-002 M)

fearman g . E;_2+/N_ =-025V
1

1

E =-166V

o
A% /AL
log 5 = 0-6990
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(iii) Methyl chloride reacts faster with OH ion in SN2 reaction
than t-butyl chloride.

OR
(b) Complete the following reactions by writing the structural
formulae of ‘A’ and ‘B’ : 3
. _ HBIl v CA° aq- KOH v ‘PR’
(1) CH4CH = CH, Poroxide A > ‘B
(i) CH,CH,CHCH, —2¢ROH .\, HBr 5
A
Cl
i) A —M8 , cH,cH MgOl 20,
(Main product)

(a) Can sodium propoxide and t-butyl chloride be wused for the
preparation of t-butyl propyl ether ? Give suitable explanation.
Justify your answer by suggesting the appropriate starting
material required for the preparation of t-butyl propyl ether. 2

(b) Give the IUPAC name of the above mentioned ether. 1

An aqueous solution of NaOH was made and its molar mass from the
measurement of osmotic pressure at 25°C was found to be 28 gmol_l.

Calculate the percentage dissociation of NaOH in this solution. 3
[Atomic mass : Na=23:0u, O=16-0u, H=1-0 u]

Calculate the cell voltage of the voltaic cell which is set up by joining the
following half-cells at 25°C. 3

Al/AI3* (0-002 M) and Ni/Ni2* (0-002 M)

Given : EON'2+/N' =-025V
1 1
o — .
EA13+/A1 =-166V
log 5 = 0:6990

#15 # P.T.O.
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T FHM SFARAT S 1 A & | (T8 HUT T ¢ [ HFh shl AlsHAAT ITeh!
HIZAT & TR Bt 8 1) T I T I8 30 A0l (07 GHed, a7 & Qe
fieroti, STggieRted o) & 0T shael STameTees Yot o & 9 2t § | 3TeR
Toreret o ferear o Efare weRtoTt & €t =it ST ST Hehdt & ifeh foretraeh & Hey o 31cid
a7 forer g1 A1exia; SuaeR T € | 39 3IUeRI0T 1 36 727 § SR o wwel firer fo
T3 T o T e § foreimre o S9a@R T Ui i o [T AR &9 § J1d
foraT oI qEEToT o HrEaH U SOHATTIdeh! ST foretrareh % Sirest sqeer shi ffire foram
ST HhaT 2 |
frfefiad gei & A ST
@) T 53 e &1 e Iareeer AR St usee fam | Fonerss forrer g

21 3@ e FT R FROTR 2
@) (1) araefier F9Idl I foerm o foe teee fam s |

YAT

@) (i) TSee H1 w2 o e ot v fomiy fearfa 2 | fevooft Sifsto |
@M  ATe! fota & 31 aetor fafau |

Tzaw iR 2-fesitadisa &t S fogm & Tewel i 8 | 37 Jodt Aewql
e 3 & o wiethe e 5-Ruf & oar 8 1| B-, S-SR ZE-wiEke ® qoT
3-5 ThT AHIHIERe HE@Y & | B R e, Teeme o festaesad &
|1 AMTRT T T q&T o1 o1 § | S 3 gl SR RS sgca= Tgete Sreht o
Y I L 7, AN Y R3S g @ |
BISISUCEREEI RIS 1
(&) I DNA &I SIA-3Tqefed fRam ST © af T 3cdTe sl 2 ST o ded o
DNA o 3R RNA ¥ =1 2 2

@) ARERES IR RS § 3 T8 HINT |
(M (1) =i 3TFe o a1 Hewqul Yehral ol et Hifery |

areraT

(M () & ARAIIEES! i ST ATed 9 T AW Fd15Y | 36 &R 1 A fafay
St RNA o [4er1e18e H Uran STl € Afehd DNA H 72 |
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SECTION D

The following questions are case-based questions. Read the case carefully and
answer the questions that follow.

29.  According to the generally accepted definition of the ideal solution there
are equal interaction forces acting between molecules belonging to the
same or different species. (This is equivalent to the statement that the
activity of the components equals the concentration.) Strictly speaking,
this condition is fulfilled only in exceptional cases for mixtures (optical
isomers, isotopic mixtures of an element, hydrocarbon mixtures). It is
still usual to talk about ideal solutions as limiting cases in reality since
very dilute solutions behave ideally with respect to the solvent. This view
is further supported by the fact that Raoult’s law empirically found for
describing the behaviour of the solvent in dilute solutions can be deduced
thermodynamically via the assumption of ideal behaviour of the solvent.
Answer the following questions :

(a) Give one example of miscible liquid pair which shows negative
deviation from Raoult’s law. What is the reason for such deviation ? 2

(b) () State Raoult’s law for a solution containing volatile
components. 1

OR
(b) (i) Raoult’s law is a special case of Henry’s law. Comment.
(c) Write two characteristics of an ideal solution.

30. Ribose and 2-deoxyribose have an important role in biology. Among the
most important derivatives are those with phosphate groups attached at
the 5 position. Mono-, di- and tri-phosphate forms are important, as well
as 3-5 cyclic monophosphates. Purines and pyrimidines form an
important class of compounds with ribose and deoxyribose. When these
purine and pyrimidine derivatives are coupled to a ribose sugar, they are
called nucleosides.

Answer the following questions :

(a) What products would be formed when DNA is hydrolysed ? How is
DNA different from RNA with reference to a structure ?

(b) Differentiate between nucleotide and nucleoside.
(c) (1) Mention two important functions of nucleic acid.
OR

(c) (i1)) Name the linkage which joins two nucleotides. Name the base
that is found in nucleotide of RNA but not in DNA. 1

—_— NN\ N NN
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(%h)

@)

(i)

(i1)

(i1)

Qg g

?E?TITTT?iif%ﬂTI :

(D [Ni(CO),] wfaaresha & Safed [NiCl,]2 s ? |
[IEATO] hHTh @ Ni = 28]

(II) NHg 3 e H CO T Yo Hhai A ¢ |

(IIT) &% [Co(en)yCly]* T forder GHTETE LaT STEUI 2 |

foreea & frgfa &1 I #d g¢ Fedt & sTmwershia d@gar o
freaferae sht Sufterfer o srgricra goragiT <At e fafan :

I Yoo & forree

(II)  goiet & feree
[IEHTY] SRHT : Fe = 26]

YT

frafafaa Siftent gro veffa gae=ear & yer 4 ffige | s
G gHTIIE! 1 fort oft S8 |

(D [Co(NHy)gl [Cr(CN)g]
(I)  [Co(en)g]®*
(III) [CO(NH3)3(N02)3]

golet & 3 gaeT &it forreel o ot s wE i | forrs At
STSTGTT fohdt TR T3het o SI=IshUT Rl STTTo oheelt @ 2
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SECTION E

31. (a) (1) Give reasons :

D [Ni(CO),] is diamagnetic whereas [NiCl4]2_ is

paramagnetic. [Atomic number : Ni = 28] 1
(I)  CO is a stronger complexing agent than NHs,. 1

(ITI) The trans isomer of complex [Co(en)2012]+ is optically

inactive. I
(i)  Using Crystal Field theory, write the number of unpaired
electrons in octahedral complexes of Fe3* in the presence of : 2
D Strong field ligand
(I) Weak field ligand
[Atomic number : Fe = 26]

OR

b)) @ Name the type of isomerism exhibited by the following

compounds. Also draw their corresponding isomers.

(D [Co(NHg)gl [Cr(CN)gl 1
(ID  [Co(en)]®* 1
(III) [Co(NHg)3(NO,),] 1

(i1)  Differentiate between weak field and strong field ligands.
How does the strength of the ligand influence the spin of the

complex ? 2
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(%h)

@)

(i1)

(1)

(i1)

T ShiTE ShT SAMTRAT ;
N,O5 (g) - 2NO, (g) + %02 (g)
% T8 NyO5 I TRfe |izar 1-2 x 1072 mol L1 off | 60 fiFe &

TEET NoyO5 1 HiEdT 0-2 x 1072 mol L1 off | 318 K W aAfwfsran

T T feertieh Ufterford shifTT |
[log 6 = 0-778]

ffcTRad o foTg T AT -
() B Hicld THTeh ST o STurR W et stffsrar
1T I el T ol |
(ID) 1S f5-3107 sAfwfsran fafe aitReerta 7 wfdera: wem Hife &t &t
BETIRS
3TeraT

298 K & W ¥ & 10 K 3l Jfg o |rer forelt Tamif-en SArfshar st
ST QI &1 ST € | Hish0 Srtt (E,,) 2T TTUMT =hITSTY |
[2:303 R = 19-15 JK ' mol L, log 2 = 0-3]

srfufsmar

9H,0, —— 2H,0 + 0,

o foTe sreanfara forafarfer fe SRR & -
D  Hy,0,+I — > H,0+10" (=)
(ID) Hy0y + 107 —— Hy0 + I + O, (TN
(1) sArfsran o forg a frem fafiay |
(2) ffsra it ey Fife wa ATfoeehar fafau |
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32.

56/4/3

(a)

(b)

(i)

(i1)

(i)

(i1)

The initial concentration of NoOg in the first order reaction :
1
N2O5 (g) - 2N02 (g) + 502 (g)
was 12 x 1072 mol L. The concentration of N205 after

60 minutes was 02 x 1072 mol L~L. Calculate the rate

constant of the reaction at 318 K. 3
[log 6 = 0-778]
Account for the following :

D We cannot determine the order of a reaction by taking
into consideration the balanced chemical equation. 1

(IT) A bimolecular reaction may become kinetically of first
order under a specified condition. 1

OR

The rate of the chemical reaction doubles for an increase of

10 K in absolute temperature from 298 K. Calculate
activation energy (E,). 3

[2:303 R = 1915 JK ! mol™L, log 2 = 03]
For a reaction :
9H,0, —1 5 2H,0 + O,

the proposed mechanism is as given below :

(D HyOy +I" —— Hy0 + 10~ (slow)

(II) HyOg + 107 —— HyO + 1" + Oy (fast)

(1) Write rate law for the reaction.

(2) Write the overall order and molecularity of the

reaction. 2
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(%h)

@)

(i)

(i1)

(i)

(i1)

T IcuTal sht GCeT forerert freferiaa stwloramstt =t qof hife -

H,NCONH - NH

(I)  (CHy),Cd + 2CH,COCl ——>

COCl H,
(ITD) ,
Pd - BaSO4

frefafad e gt & fave &0 % fou wa et weao
ST .

(I) TS Siue 3R sivstigeh 3TF et

(II) U 3R T

YT

=1 forerert qut hIferg :

©/CH20H3 () KMnO,, KOH
M Gi) He0"

(ID) GCHQ s O—CHO

0

Ag(NHq)ol*
) \\Q 1AgMNHghl

CHO

fFefafaa sgmator gra= Hifse
() difcsess U desihiH
() SfceerEe ¥ 3-%iHe It
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56/4/3

(a)

(b)

(i)

(i1)

(i)

(i)

Complete the following reactions by writing the structure of
the main products :

H,NCONH - NH

(I)  (CHg)yCd + 2CH;COCI ——>

COCl1 H,
(I1I) >
Pd - BaSO4

Give simple chemical test to distinguish between the
following pairs of compounds :

D Ethyl benzoate and benzoic acid
(IT) Propanal and propanone

OR

Complete each synthesis by giving missing starting
material, reagent or products :

©/CH2CH3 () KMnO,, KOH
() (i) Ho0*

an  =cu, 5 { H—cHo

0

Ag(NHq)ol*
) \\Q 1AgMNHghl
CHO

Carry out the following conversions :

D Benzaldehyde to Benzophenone
(IT) Benzaldehyde to 3-phenyl propanol
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